
Page 1 of 2 

 

 

Illustrated Parts & 
Packing List 

528 Gandrud Road, Owatonna, MN 55060 

For a complete distributor & dealer list go to www.gandy.net 
 

09073649EMS  

Tool Bar Mount 
For All Applicators 

(One Per Hopper) For up to 7 -inch Square Tool Bar or up to 5-inch Diamond Tool Bar 

Replaces 09066229EMS, 09070556EMS, and 09071589EMS 

Telescopes From 16-inches to 24-inches 

(All Hardware in Place) 

 

 
 

 
 

 



Page 2 of 2 

 

1 ................................. 09073649-5 ................... Base Post 

  Use: 2 Hex Bolt (3/8 x 2-1/4) (C03-0375-091) 

   2 Lock Washer (3/8) (C02-0375-010) 

   2 Hex Nut (3/8) (C01-0375-010) 

1 ................................. 09073649-6 ................... Post, Telescoping 

  Use: 2 Hex Bolt (1/2 x 1-1/2) (C03-0500-062) 

   2 Lock Washer (1/2) (C02-0500-010) 

   2 Hex Nut (1/2) (C01-0500-010) 

1 ................................. 09072649-4 ................... Clamp, Tool Bar 

2 ................................. 09071598-5 ................... Stud Bolt, Tool Bar Clamping 

  Use: 4 Wrought Washer (5/8) (C02-0625-030) 

   4 Lock Washer (5/8) (C02-0625-010) 

   4 Hex Nut (5/8) (C01-0625-010) 

 

  

Installation Instructions: 

 

1. Remove hardware from stud bolt (09071598-5). 

 

2. Install base post (09073649-5) in desired position facing to the rear of planter.   

 Place clamp (09072649-4) in position on the underside of tool bar. 

 

3. Replace stud bolt and hardware.  Tighten hardware. 

 

4. Fasten hopper to telescoping post (09073649-6) using the 1/2 x 1-1/2 hex bolts, lock washers and nuts.   

 Tighten hardware. 

 

5. Insert telescoping post into base post.  Adjust hopper to desired height and fasten using the 3/8 x 2-1/4 hex bolts,  

 lock washers and nuts as shown.  Tighten hardware. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

GDY-09073649EMS-PPL 

Drawing: 09073649EMS 

August 6, 2013 

Revised From (3/4/09) 

Printed in the USA 


